[ Efficiency vs vertpos |

~0.05 :
D045+
2 :
20.04F oo
Q .
D.035F- oo
2
£0.03
0.025
0.02

0.015f {¢-
0.01
0.005

10—

Ratio

1072 107

== 1T _MKFIT- _

—— DOM_TT_mkFit-DQM_

— DQM_TT__mkFit-DQM_]
Efficiend —— DOM_TT_mkFit-DOM

10 0?
TP vertr (cr%)

original-o
original-127
mod-127
mod_updated-127

~ 0.2

20.18F -+ preneendeees oeaeass
» o . : : :
>0.16----- LTy TR e
> N . . .
< o : ; : :
O R et T :
o L . . . .
E 0,12 reebeeeerde e S :
[} : : : :
O At | SR
0.08F =i+ S S 5
0.06F -5+ SRR b b_._@ .......

oot
0.02F - - %}g-.

................

................

I

Ratio
=
T

[ Efficiency vs. sim PV z |

10 20 30

TP vert z (cm)

~ 0.2

= : : : :
L e e .

S

e

effic

L R S
2004F ot
P E : : : :
L R I S
T S S
O R A B
Q.0Bf |-+ -vveevvvren e
0.04f - Beeees freeeenes P

................

................

10
1

Ratio

I
1
T

0.8
0.6

T
L
55t Eoooonsos

0.02 ‘L%%##¥%§$%%H3$ﬁ
A N L A

o

10 15 20

Sim. PV z (cm)




	Contents
	Page 1


